K EHEBRER— 8 RH6EE 1 HRA  EKE KFHMR

No B B & X &5 | KEEEE| 4/15 5/10 6/7 7/5
BREEAH OIFH | 4918F | 91H | 91EH
1 — R BARE =100 0 0 0 0
2 KR BARE THE | FHEE | TRE | TRE | THRHE
3 AREVLRUZDIEEY RS <0.003 - <0.003 - -
4 KEBRUZDILED RS =<0.0005 - <0.0005 - -
5 HLURUZDIEEY RS <001 - <0.01 - -
6 REUZDIEEY R E <0.01 - <0.01 - -
7 ERXRUZDILEY R E <001 - <0.01 - -
8 ARivoLIEEY RS <0.02 - <0.02 - -
9 EHBEER RS <0.04 - <0.04 - -
10| ST7AEPAAL RBIEIES TV B EEREE <0.01 - <0.01 - -
11| WEBEERRUVERBEZRSR B EERE <10 - 0.06 - -
12 IVERRUZDIEEY R E <08 - <0.08 - -
13 RORRUZEDEED RS =1 - <0.1 - -
14 miEfkixE R R E <0.002 - <0.0002 - -
15 1, 4= %Y R REE <0.05 - <0.005 - -
16|va-1,2-090017LU R UM VA-12-vancFLy|  (RERESE =0.04 - <0.001 - -
17 DAsI=ET R E <0.02 - <0.001 - -
18 ThZYREIFLY R E <001 - <0.001 - -
19 r)yopIFLY R R E <001 - <0.001 - -
20 vy R R E <001 - <0.001 - -
21 BREE R R E <06 - <0.06 - -
22 d=]aliid R REE <0.02 - <0.002 - -
23 PI=I=E N R E <0.06 - 0.012 - -
24 YOO R E <0.03 - 0.008 - -
25 oJ0E/00AY R R E <0.1 - <0.001 - -
26 REE R R E <001 - <0.001 - -
27 UIN=E R R E <0.1 - 0.015 - -
28 rJHBROEEEE fRRERE =0.03 - 0.008 - -
29 JOED/OOAY 2 ERRSE =0.03 - 0.003 - -
30 JOERILL fRRERE <0.09 - <0.001 - -
31 RILLTILTER fRRERE =0.08 - <0.008 - -
32 BRUVZDILEY KEKDHER =1 - 0.002 - -
33| FISTOLRUZFDLEEY [ KEKDHER <02 - 0.01 - -
34 BRUZDIEED KEKDHER =03 - <0.03 - -
35 HARUVZDILEY KEKDHER =1 - <0.01 - -
36 FRIDLRUZDIEED KEKRDMEK] =200 - 6.2 - -
37 IVHAVRUZDILED KEKDHEIK =0.05 - <0.001 - -
38 BemA4 BABRE =200 8.8 7.2 7.2 8.2
39| AL L RT I LEBE) | KEKDER =300 - 17 - -
40 EREBY KEKDHER =500 - 43 - -
41 EAA REmEHH KEKDHEIK =0.2 - <0.02 - -
42 CIFARIV KEKDMIK| =0.00001 - - - -
43 2—AFNAVRILRF—IL KEKDMEK [ =0.00001 - - - -
44 LA REEHES KEKDHEIK =0.02 - <0.002 - -
45 Jx/—ILEE KEKDMIK| =0.005 - <0.0005 - -
46| FHY (2FERKRTOC)DE) BARE =3 0.4 05 0.6 0.6
47 pH{E BARE 5.8~8.6 7.2 7.2 7.1 7.0
48 Tk BARE |EEBTHL| AL BL BL BL
49 BR BARE |EEBTHL| AL BL BL BL
50 BE BABRE =5 <05 <05 <05 | <05
51 AE BARE <2 <0.1 <0.1 <01 | <o0.1
RBIER 0.4 0.4 0.44 0.4
= m 15.1 19.8 23.4 27.1
7K m 12.4 16.3 19.0 23.4




K B R BHERE B BHEEE 2 WREZ FKE EEBX
No B B & X &5 | KEEEE| 4/15 5/10 6/7 7/5
BREEAH OIFH | 4918F | 91H | 91EH
1 — R BARE =100 0 0 0 0
2 KR BARE THE | FHEE | TRE | TRE | THRHE
3 AREVLRUZDIEEY RS <0.003 - <0.0003 - -
4 KEBRUZDILED RS =<0.0005 -  |<000005| - -
5 HLURUZDIEEY RS <001 - <0.001 - -
6 REUZDIEEY R E <0.01 - <0.001 - -
7 ERXRUZDILEY R E <001 - <0.001 - -
8 ARivoLIEEY RS <0.05 - <0.002 - -
9 EHBEER RS <0.04 - <0.004 - -
10| ST7AEPAAL RBIEIES TV B EEREE <0.01 - <0.001 - -
11| WEBEERRUVERBEZRSR B EERE <10 - 0.08 - -
12 IVERRUZDIEEY R E <08 - <0.08 - -
13 RORRUZEDEED RS =1 - <0.1 - -
14 migERE R R E <0.002 - <0.0002 - -
15 1, 4= %Y R REE <0.05 - <0.005 - -
16|va-1,2-090017LU R UM VA-12-vancFLy|  (RERESE =0.04 - <0.001 - -
17 DAsI=ET R E <0.02 - <0.001 - -
18 ThZYREIFLY R E <001 - <0.001 - -
19 r)yopIFLY R R E <001 - <0.001 - -
20 vy R R E <001 - <0.001 - -
21 BREE R R E =06 - 0.09 - -
22 d=]aliid R REE <0.02 - <0.002 - -
23 PI=I=E N R E <0.06 - 0.014 - -
24 YOO R E <0.03 - 0.009 - -
25 oJ0E/00AY R R E <0.1 - <0.001 - -
26 REE R R E <001 - <0.001 - -
27 UIN=E R R E <0.1 - 0.017 - -
28 rJHBROEEEE fRRERE <0.03 - 0.010 - -
29 JOED/OOAY 2 ERRSE =0.03 - 0.003 - -
30 JOERILL fRRERE <0.09 - <0.001 - -
31 RILLTZIILTER fRRERE =0.08 - <0.008 - -
32 BRUVZDILEY KEKDHER =1 - 0.003 - -
33| FISTOLRUZFDLEEY [ KEKDHER 0.2 - 0.02 - -
34 BRUZDIEED KEKDHER =03 - <0.03 - -
35 HARUVZDILEY KEKDHER =1 - <0.01 - -
36 FRIDLRUZDIEED KEKRDMEK] =200 - 6.5 - -
37 IVHAVRUZDILED KEKDHEIK =0.05 - <0.001 - -
38 BemA4 BABRE =200 8.7 75 7.6 8.3
39| AL L RT I LEBE) | KEKDER =300 - 18 - -
40 EREBY KEKDHER =500 - 45 - -
41 EAA REmEHH KEKDHEIK =0.2 - <0.02 - -
42 CIFARIV KEKDMIK| =0.00001 - - - -
43 2—AFNAVRILRF—IL KEKDMEK [ =0.00001 - - - -
44 LA REEHES KEKDHEIK =0.02 - <0.002 - -
45 Jx/—ILEE KEKDMIK| =0.005 - <0.0005 - -
46| FHY (2FERKRTOC)DE) BARE =3 0.4 0.4 0.6 0.7
47 pH{E BARE 5.8~8.6 7.1 73 7.3 7.1
48 Tk BARE |EEBTHL| AL BL BL BL
49 BR BARE |EEBTHL| AL BL BL BL
50 BE BABRE =5 <05 <05 <05 | <05
51 AE BARE <2 <0.1 <0.1 <01 | <o0.1
RBIER 05 0.6 0.5 0.6
= m 14.3 17.3 225 27.0
7K m 11.2 17.7 18.8 22.4




KEHBRKER — & SH6EE 3 HEE o BBX
No 5 B & X o | KEHEE E% =5 =Y iy
BREEAH OIFH | 4918F | 91H | 91EH
1 — R BARE <100 - - - -
2 KR BARE Tt - - - -
3 AREVLRUZDIEEY RS <0.003 - - - -
4 KEBRUZDILED RS =<0.0005 - - - -
5 TLURUZDIEEY RS <001 - - - -
6 MEUVZDIEEY R E <0.01 - - - -
7 ERXRUZDILEY R E <001 - - - -
8 ANEvOLERY RS <0.05 - - - -
9 BEHEEEER RS <0.04 - - - -
10| ST7AEPAAL RBIEIES TV B EEREE <0.01 - - - -
11| FHBEZRRUVEHBEEZS RS E <10 - - - -
12 TvRRUZDILED R E =038 - - - -
13 TRORRUZDIELED RS =1 - - - -
14 miEfkixE R R E <0.002 B - - -
15 1, 4= %Y R REE <0.05 B - - -
16|va-1,2-090017LU R UM VA-12-vancFLy|  (RERESE <0.04 - - - -
17 DAsI=ET R E <0.02 - - - -
18 ThZYREIFLY R E <0.01 - - - -
19 r)yopIFLY R R E <0.01 - - - -
20 vy R R E <001 B - - -
21 R R R E <06 B - - -
22 d=]aliid R REE <0.02 - - - -
23 7888V LA R E <0.06 - - - Z
24 YOO R E <0.03 B - - -
25 oJ0E/00AY R R E =01 B - - -
26 REE R R E <001 - - - -
27 R ANOAZY B EEREE <0.1 - - - -
28 rJHBROEEEE fRRERE <0.03 B - - -
29 JOED/OOAY 2 ERRSE =0.03 - - - -
30 JOERILL 2 ERRSE =0.09 - - - -
31 RILLTZIILTER fRRERE <0.08 B - - -
32 BRUVZDILEY KEKDHER =1 B - - -
33| FISTOLRUZFDLEEY [ KEKDHER <02 - - - -
34 BRUZDIEED KEKDHER =03 - - - -
35 HARUVZDILEY KEKDHER =1 - - - -
36 FRIDLRUZDIEED KEKRDMEK] =200 B - - -
37 IVHAVRUZDILED KEKDHEIK =0.05 - - - -
38 LA 4> BARE <200 - - - -
39| AL L RT I LEBE) | KEKDER =300 - - - -
40 EREBY KEKDHER <500 - - - -
41 B/ REmE KEKDHER <02 - - - -
42 CIFARIV KEKDMIK| =0.00001 - - - -
43 2—AFNAVRILRF—IL KEKDMEK [ =0.00001 - - - -
44 LA REEHES KEKDHEIK =0.02 - - - -
45 Jx/—ILEE KEKDMIK| =0.005 - - - -
46| FHY (2FERKRTOC)DE) BARE =3 - - - -
47 pH{E BARE 5.8~8.6 - - - -
48 7S BARE |[EETHL - - - -
49 BR BARE |[EETHL - - - -
50 BE BARE <5 - - - -
51 AR BARE <2 - - - -
HEBER - - - -
E p=t - - - -
7K P - - - -




KE HBHERE— B BH6EE IR EKEFEE [BE]
No B B & X &5 | KEEEE| 4/15 5/10 6/7 7/5
BREEAH OIFH | 4918F | 91H | 91EH
1 — R BARE =100 0 0 0 0
2 KR BARE THE | FHEE | TRE | TRE | THRHE
3 AREVLRUZDIEEY RS <0.003 - <0.0003 - -
4 KEBRUZDILED RS =<0.0005 -  |<000005| - -
5 HLURUZDIEEY RS <001 - <0.001 - -
6 REUZDIEEY R E <0.01 - <0.001 - -
7 ERXRUZDILEY R E <001 - <0.001 - -
8 ARivoLIEEY RS <0.05 - <0.002 - -
9 EHBEER RS <0.04 - <0.004 - -
10| ST7AEPAAL RBIEIES TV B EEREE <0.01 - <0.001 - -
11| WEBEERRUVERBEZRSR B EERE <10 - 0.07 - -
12 IVERRUZDIEEY R E <08 - <0.08 - -
13 RORRUZDIEED B R REE =1 - <0.1 - -
14 miEfkixE R R E <0.002 - <0.0002 - -
15 1, 4= %Y R REE <0.05 - <0.005 - -
16|va-1,2-090017LU R UM VA-12-vancFLy|  (RERESE =0.04 - <0.001 - -
17 DAsI=ET R E <0.02 - <0.001 - -
18 ThZYREIFLY R E <001 - <0.001 - -
19 r)yopIFLY R R E <001 - <0.001 - -
20 vy R R E <001 - <0.001 - -
21 R R R E <06 - <0.075 - -
22 d=]aliid R REE <0.02 - <0.002 - -
23 Zi=1=FJ]WN R E <0.06 - 0.013 - -
24 YOO R E <0.03 - 0.009 - -
25 oJ0E/00AY R R E <0.1 - <0.001 - -
26 REE R R E <001 - <0.001 - -
27 UIN=E R R E <0.1 - 0.016 - -
28 rJHBROEEEE fRRERE =0.03 - 0.009 - -
29 JOED/OOAY 2 ERRSE =0.03 - 0.003 - -
30 JOERILL fRRERE <0.09 - <0.001 - -
31 RILLTZIILTER fRRERE =0.08 - <0.008 - -
32 BRUVZDILEY KEKDHER =1 - 0.003 - -
33| FISTOLRUZFDLEEY [ KEKDHER 0.2 - 0.02 - -
34 BRUZDIEED KEKDHER =03 - <0.03 - -
35 HARUVZDILEY KEKDHER =1 - <0.01 - -
36 FRIDLRUZDIEED KEKRDMEK] =200 - 6.4 - -
37 IVHAVRUZDILED KEKDHEIK =0.05 - <0.001 - -
38 BemA4 BABRE =200 8.8 7.4 74 8.3
39 AL L TRV LEFEE) | KEKDHEIK] =300 - 18 - -
40 EREBY KEKDHER =500 - 44 - -
41 EAA REmEHH KEKDHEIK =0.2 - <0.02 - -
42 CIFARIV KEKDMIK| =0.00001 - - - -
43 2—AFNAVRILRF—IL KEKDMEK [ =0.00001 - - - -
44 LA REEHES KEKDHEIK =0.02 - <0.002 - -
45 Jx/—ILEE KEKDMIK| =0.005 - <0.0005 - -
46| FHY (2FERKRTOC)DE) BARE =3 0.4 0.5 0.6 0.7
47 pH{E BARE 5.8~8.6 7.2 73 7.2 7.1
48 Tk BARE |EEBTHL| AL BL BL BL
49 BR BARE |EEBTHL| AL BL BL BL
50 BE BABRE =5 <05 <05 <05 | <05
51 AE BARE <2 <0.1 <0.1 <01 | <o0.1
RBIER 05 05 0.5 05
= m 14.7 18.6 23.0 27.1
7K m 11.8 17.0 18.9 22.9




